Residual versus local y

- —e—— esXTGGPst_physics _6035027.root ss (0,12]

m)
3
l

——e—— esXTGGPst_physics 6035027.root ss (12,24]

——o—— 1esXTGGPst_physics_6035027.root ss (24,36]

Residual
o
o
N
I

—*. ——e—— 1esXTGGPst_physics_6035027.root ss (36,48]

0.02 _ .......... ’ ............. + ...... .................... ‘ .......... .Q ............... .o ...............

00208 o T AL 7Y | o
: : 5 5 $ :

Y
-0.04 | I T T AN TN W Wil N TN S S NN S ’l | T R T A TR R S NN
60 80 100 120 140 160 180

Wed Feb 9 01:39:19 2005 Local Y




